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QUESTION 4 : System Technologies: Software [12] QUESTION 5
4.1.1 Windows 10 y 1) 5.1. a. Check — Boolean Type 0
b. C - Integer; (1)
412 Office 2016 + ) 52
4.2 An operating system is system software which controls all activities that take Line | YO-Variables Decisions Output
z o = -
place in a computer. A A\_v .\k W'EH check |C |nummodc=0 c=num | _
1
4.3 Antivirus /driver / compression software / backup v (Any 1) (i) 2 TRUE
3 2
4.41 Device drivers are system software that allow an operating system to 4 F
communicate with and control a hardware device. A ()] M 3 F
4.42 From the printer box when purchasing a new printer / download from the 7
internet. v o) 7 5
5 F
45 It uses visual components to represent options and choices for the user, and it 5 1
lends itself to being used with a pointing device, such as a mouse. < 1) 7
461 Winzip/WinRar W : - F |
4.6.2 Compression software is aimed at _‘macoim the size of a file \ so that it takes w 5
up less space to store. ¥ ; 2 5
It is often used to reduce the size of e-mail attachments. @ 5 F
: 6 6
4.7 Memory management involves the managing RAM- to control how programs 7
use itV — i.e. make sure that programs don’t try to use the same area of 4 F
memory at the same time and so corrupt each other's data/instructions. ) 5 F
6 7
[12] 7
4 T
8 The number num is P*
v v NV v v
6)
5.3. It is determining if an input is prime or composite. / counts the factors of a
numbery %)
5.4. C = Composite ¥ P = Prime v @)
5.5.1. The number 51 is C ¥ €D
5.5.2. The number 83 is P ¥ ")

5.6.

1. Enter an input (num) ¥ i

2. x € num div 1000; ¥

3.y < num mod 100; ¥

4. y:=ymod10*10+ (ydiv 10N+ ;

5. ifx =y« then Display(ls a palindrome') v i

6. else Display \(Is not a palindrome’); ¥ @
TOTAL = 20
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